
Offensive Criss‐Cross Play: “Coots”
The x‐cross play aims for a wide open 
layup to develop, whether it is 
through  the initial x‐cross or off the 
subsequent ball reversal.

1. The (1) passes to the (3) and leads  
the (1) and (2) to x‐cross above 
the (5) to go to the blocks, while 
the (4) heads to the top of the 
key.

2. The (3) then has the option to pass 
to the (2) if open for a layup, or 
else reverse the ball to the (4) as 
the (1) pops out to the wing.

3. The (4) passes to the (1) who will 
be waiting for the (3) to use a 
screen by the (2) to pass him/her 
the ball for the open layup at the 
other block.

Offense
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